
Niederschlag

Geeignete

Niederschlags-

menge

Geeignetes

Klima

Kiwi-Standort

Reclassify Reclassify

+

Klima

Old Values New Values

1-2 0

3-5 1

Old Values New Values

0 – 1000 0

> 1000 1

Values

0

1

2

3

Kalt 1

Kühl 2

Mild 3

Warm 4

Heiss 5

x1

Gewichtet Verschneidung 

Lösung: 

1) Die hier verwendete Gewichtung ist nur ein mögliches Beispiel.

x2



Niederschlag

Geeignete

Niederschlags-

menge

Geeignetes

Klima

Kiwi-Standort

Reclassify Reclassify

Klima

Old Values New Values

0-1000 0

1000-1200 2

>1200 1

Old Values New Values

1-2 0

3-4 2

5 1

Values

0 2

0.5 2.5

1 3

1.5

2)

ReclassifyReclassify

Index Values Stand. Values

0 0

1 0.5

2 1

Index Values Stand. Values

0 0

1 0.5

2 1
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